

# About $2^{3/4} F(-1/8, 1/4, 5/4, 1)$

Edgar Valdebenito

January 27, 2023

## abstract

---

We give some formulas related to  $2^{3/4} F(-1/8, 1/4, 5/4, 1)$ , where  $F$  is the Gauss hypergeometric function.

---

keywords: Integrals, hypergeometric series, number Pi

---

## I. Introduction

Recall that

$$\frac{\pi}{4} = 1 - \frac{1}{3} + \frac{1}{5} - \frac{1}{7} + \frac{1}{9} - \frac{1}{11} + \dots \quad (1)$$

the Gauss hypergeometric function is defined by

$$F(a, b, c, x) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n n!} x^n, \quad |x| < 1 \quad (2)$$

where

$$(a)_n = a(a+1)(a+2)(a+3)\dots(a+n-1), \quad (a)_0 = 1 \quad (3)$$

the gamma function is defined by

$$\Gamma(x) = \int_0^{\infty} e^{-t} t^{x-1} dt, \quad x > 0 \quad (4)$$

$$\Gamma(x+1) = x \Gamma(x) \quad (5)$$

In this note we give some formulas related to  $2^{3/4} F(-1/8, 1/4, 5/4, 1)$ .

## II. Formulas

Entry 1.

$$\int_0^{\infty} \frac{1}{\sqrt{1 + \sqrt{1 + x^8}}} dx = \frac{(\Gamma(1/4))^2}{6 \sqrt{2 - \sqrt{2}} \sqrt{\pi}} = 2^{3/4} F(-1/8, 1/4, 5/4, 1) \quad (6)$$

Entry 2.

$$\frac{(\Gamma(1/4))^2}{6 \sqrt{2 - \sqrt{2}} \sqrt{\pi}} = \frac{1}{4} \int_0^1 x^{-3/4} (1-x)^{-7/8} (1+x)^{-11/8} dx = \frac{1}{4} \int_0^1 x^{-7/8} (1-x)^{-3/4} (2-x)^{-11/8} dx \quad (7)$$

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \sqrt[4]{8} \int_0^1 \sqrt[8]{1-x^4} dx = \sqrt[4]{8} \int_0^1 \sqrt[4]{1-x^8} dx \quad (8)$$

Entry 3.

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \frac{1}{4\sqrt{2}} \int_0^\infty \left( \sqrt[4]{\frac{\cosh x}{(\sinh x)^3}} + \sqrt[4]{\frac{(\sinh x)^5}{(\cosh x)^7}} \right) dx \quad (9)$$

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \frac{1}{2\sqrt{2}} \int_0^\infty \frac{\cosh(2x)}{(\sinh(2x))^{3/4} \cosh x} dx \quad (10)$$

Entry 4. for  $u \geq 1$ , we have

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \int_0^u \frac{1}{\sqrt{1+\sqrt{1+x^8}}} dx + \sum_{n=0}^\infty \frac{(-1)^n 2^{-2n} u^{-4n-1}}{4n+1} \binom{2n}{n} F\left(\frac{2n+1}{4}, \frac{4n+1}{8}, \frac{4n+9}{8}, -\frac{1}{u^8}\right) \quad (11)$$

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \int_0^u \frac{1}{\sqrt{1+\sqrt{1+x^8}}} dx + \sum_{n=0}^\infty \frac{(-1)^n 2^{-2n} u}{(4n+1)(1+u^8)^{(2n+1)/4}} \binom{2n}{n} F\left(\frac{2n+1}{4}, 1, \frac{4n+9}{8}, \frac{1}{1+u^8}\right) \quad (12)$$

Entry 5. for  $0 < u \leq 1$ , we have

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \int_u^\infty \frac{1}{\sqrt{1+\sqrt{1+x^8}}} dx + \sum_{n=0}^\infty \binom{2n}{n} 2^{-3n} \sum_{k=0}^n (-1)^k \binom{n}{k} F\left(-\frac{k}{2}, \frac{1}{8}, \frac{9}{8}, -u^8\right) \quad (13)$$

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \int_u^\infty \sqrt{\sqrt{1+x^8} - x^4} dx + \sum_{n=0}^\infty \binom{2n}{n} \frac{2^{-2n} u^{4n+1}}{(1-2n)(4n+1)} F\left(\frac{2n-1}{4}, \frac{4n+1}{8}, \frac{4n+9}{8}, -u^8\right) \quad (14)$$

Entry 6. for  $u \geq 0$ , we have

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \frac{u}{\sqrt{1+\sqrt{1+u^8}}} + \frac{2\sqrt[4]{8}}{9} \left( \frac{\sqrt{1+u^8}-1}{\sqrt{1+u^8}+1} \right)^{9/8} F\left(\frac{3}{4}, \frac{9}{8}, \frac{17}{8}, \frac{\sqrt{1+u^8}-1}{\sqrt{1+u^8}+1}\right) + \int_u^\infty \frac{1}{\sqrt{1+\sqrt{1+x^8}}} dx \quad (15)$$

Entry 7.

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \int_0^\infty \frac{1}{\sqrt{x^4 + \sqrt{1+x^8}}} dx = \int_0^\infty \sqrt{\sqrt{1+x^8} - x^4} dx \quad (16)$$

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = 2\sqrt{2} \int_0^1 \frac{\sqrt[4]{x(1+x^2)}}{\sqrt{1-x^2}(1+x)^2} dx \quad (17)$$

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \frac{1}{4} \int_0^\infty \frac{e^{-x/2} \cosh x}{(\sinh x)^{3/4}} dx \quad (18)$$

Entry 8. for  $0 \leq u \leq 1$ , we have

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = 2^{3/4} u^{1/4} F\left(-\frac{1}{8}, \frac{1}{4}, \frac{5}{4}, u\right) + \frac{2 \cdot 2^{3/4}}{9} (1-u)^{9/8} F\left(\frac{3}{4}, \frac{9}{8}, \frac{17}{8}, 1-u\right) \quad (19)$$

Entry 9. for  $u \geq 1$ , we have

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \int_0^u \frac{1}{\sqrt{1+\sqrt{1+x^8}}} dx + \left(\frac{2}{u^4+\sqrt{1+u^8}}\right)^{1/4} \sum_{n=0}^{\infty} \left(-\frac{1}{u^4+\sqrt{1+u^8}}\right)^n \left(\frac{1}{4n+1} + \frac{(u^4+\sqrt{1+u^8})^{-2}}{4n+9}\right) \sum_{k=0}^{\lfloor n/2 \rfloor} \frac{(3/4)_k}{k!} \quad (20)$$

Entry 10.

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \int_0^1 \frac{1}{\sqrt{x^4+\sqrt{x^8+(1-x)^8}}} dx = \int_0^1 \frac{1}{\sqrt{(1-x)^4+\sqrt{x^8+(1-x)^8}}} dx \quad (21)$$

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \int_0^{\infty} \frac{x^2}{\sqrt{x^4+\sqrt{x^8+(x^2-1)^8}}} dx \quad (22)$$

Entry 11.

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \frac{1}{\sqrt[4]{2}} \int_0^1 \sqrt[4]{\frac{1}{x^2} - x^2} dx \quad (23)$$

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \int_0^{\infty} e^{-x} \sqrt[4]{\sinh(2x)} dx = \sqrt[4]{2} \int_0^{\infty} \left(\sqrt[4]{\sinh x (\cosh x)^5} - \sqrt[4]{\cosh x (\sinh x)^5}\right) dx \quad (24)$$

Endnote

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = 2 \cdot 2^{3/8} \int_0^1 \left(\sqrt[8]{1+\sqrt{1-x^8}} - \sqrt[8]{1-\sqrt{1-x^8}}\right) dx \quad (25)$$

$$\frac{(\Gamma(1/4))^2}{6\sqrt{2-\sqrt{2}}\sqrt{\pi}} = \frac{1}{2^{5/4}} \int_0^{\infty} \left(\left(\frac{2}{3}\right)^{1/3} \left(9x^4 + \sqrt{3}\sqrt{27x^8-4}\right)^{-1/3} + \frac{1}{2^{1/3} \cdot 3^{2/3}} \left(9x^4 + \sqrt{3}\sqrt{27x^8-4}\right)^{1/3}\right)^{-1} dx \quad (26)$$

## References

- A. Abramowitz, M., and I.A. Stegun, Handbook of Mathematical Functions, National Bureau of Standards, Washington DC, 1964.
- B. Bartsch, H.S., Handbook of Mathematical Formulas, Academic Press, New York, 1973.
- C. Erdélyi, A., W. Magnus, F. Oberhettinger, and F.G. Tricomi, Higher Transcendental Functions (Bateman Manuscript), three volumes, McGraw Hill, New York, 1955.
- D. Wolfram, S., The Mathematica Book, fourth edition, Cambridge University Press, Cambridge, 1999.